/DIRB
3UDFRZQLN 5RINGDG  $QGUIHI = \WWDOVNL 7\J

NI
% %H]SIHFJHEVIZR Z VNIXDFIDFK NIN\J\VRZ\FK ZDU $QG
8 UJHI = \VIDIVNL =% %1 O z %1 O
= z
=
(O]
I 7N\J
g %H]SIHFJHEVIZR Z VNIXDFIDFK NINN]\VRZ\FK ZDU $QG
n UTHI = \VIDIVNL =% %1 O ot %1 O
z
=
1
7\G]
%H]SIHFJHEVIZR Z VNIXDFIDFK NN\J\VRZ\FK ZDU $QG
UJHI = \VIDIVNL =% %1 O z %1 O
z
7\G]
[a] %H]SIHFJHEVIZR Z VNIXDFIDFK NIN]\VRZ\FK ZDU $QG
8 UTHI = \VIDIVNL =% %1 O ot %1 O
> z
<
7\G] 7\G]
%H]SIHFJHEVIZR Z %H]SIHFJHEVIZR Z
VNIXDFIDFK NNNJ\VRZ\FK | |VAIXDFIDFK NUNJ\VRZ\FK
ZDU  $QGUIHI = \VIDIVNL ZDU  $QGUIHI = \VIDOVNL
=% %1 O z =% %1 O z
%1 O z %1 O z
L]
]
=
™
[a g
©




